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1. Introduction
At TSG-RAN meeting #38, " HSPA Evolution for 1.28Mcps TDD " was approved as a Work item (WI) in RP-070924[1]. Meanwhile, EVM evaluate method of a modulation is given in  25.141 [2] and proposal [3,4] provide aspects and analysis related to composite EVM vs. RCDE. 

This contribution provides link-level simulation analysis and gives recommendation requirements for TDD LCR 64 QAM based on research result of ZTE.

2. Simulation modelling
A simulation is set up based on the model that EVM is modeled to white gaussian noise as shown in figure 1.
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Figure 1  Simulation system model.
2.1 Simulation procedure
Simulation procedure is stated as below:

1. Generate wireless channel, introduce EVM’s influence into 64QAM system as shown in figure 1.

2. For every TTI, compute the expected SIR.

3. Based on the SIR, look up the corresponding tables between SIR and TBS and calculate estimated throughput of TBS as shown in following formula:
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2.2 Simulation parameters
Simulation parameters is shown as table 1：
Table1 Simulation Parameters
	Simulation Parameter
	Configuration

	Number Carrier
	1

	Number timeslots
	3

	Number HS-PDSCH codes per timeslot
	16

	Spreading factor
	16

	Receiver
	1 Rx Antenna, MMSE-BLE

	Channel estimation
	Zero Forcing + Post Processing

	Channel model
	Pedestrian A

	UE speeds of interest
	3km/h

	EVM model
	TxEVM=0%,5%,9%,12.5%,

RxEVM = 7%


2.3 Simulation Result
Figure 2 shows the throughput performance based on the above simulation condition.
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Figure 2: Throughput as a function of TX EVM with receiver EVM of 7%.
3. Analysis and conclusion

Considering RX EVM is set to be typically 7%., The curve indicates that less than 9% of TX EVM would be appropriate maintaining high throughput, while 12.5% of TX EVM would lead to large throughput performance loss.

Based on above analysis, we proposal that TX EVM for TD-SCDMA HSDPA 64QAM should not be more than 9%. We suggest that TX EVM should be set to 8%, and RCDE is equal to －21.9dB according to the equivalent relation between them, derived in [4].
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